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Additional Coordinate Geometry Proof Practice Name Ke \l]

1. Given: Quadrilateral ABCD with A(-5,0), B(-1,-8), C(7,-4), D( 3, 4).
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2.Given R(1,1),0(0,5), T(4,4), and H(5, 0).
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Prove ROTH is a thombus. /\ 1
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3. Given: (-1, 1), R(3,4),A(7,2),and P(-1,4) 'f\
Prove: TRAP is a trapezoid. / \l
TRAP is not an isosceles trapezoid.
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4. Quadrilateral MATH has coordinates M( 1, 1), A(-2,5), T( 3, 5), and H( 6, 1). Prove
that quadrilateral MATH is a rhombus and prove that it is not a square,
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5. Given: Quadrilateral ABCD has vertices A(-5, 6 ), B(6, 6), C( 8, -3), and D( -3, -3).
Prove: Quadrilateral ABCD is a parallelogram but is neither a rhombus nor a rectangle.
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6. Quadrilateral ABCD has vertices A( 1, 1), B(5, 2), C( 6, -2), and D( 2, -3). Classify the

quadrilateral.
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